= Mr.N

Baseball Scoreboard Math Name
Team Inning
1 2/3 4 5 6 7 8 9
Pirates (Away) 170/0[{3/0|2|2]1 1
Cardinals (Home) 0/ 2/0(1]1/0[|4/|0]|1

* The Cardinals are the home team and thus bat in the “bottom” of the inning. The
Pirates are the away team and thus bat in the “top of the inning.”

1. How many runs did the Pirates score in the top of the 1% inning?

2. How many runs did the Cardinals score in the bottom of the 2" inning?
3. How many total runs were scored in the fourth inning?

4. In what inning were zero total runs scored?

5. What was the score when the fourth inning ended?

Pirates
Cardinals

6. What was the score when the sixth inning ended?

Pirates
Cardinals

7. After what two innings was the score between the two teams tied (equal)?

8. What was the final score?

Pirates
Cardinals



Answers
1. How many runs did the Pirates score in the top of the 1% inning? 1
2. How many runs did the Cardinals score in the bottom of the 2" inning? 2
3. How many total runs were scored in the fourth inning? 4
4. In what inning were zero total runs scored? 3rd
5. What was the score when the fourth inning ended?

Pirates 4
Cardinals 3

6. What was the score when the sixth inning ended?

Pirates 6
Cardinals 4

7. After what two innings was the score between the two teams tied (equal)?
5"; 7th
8. What was the final score?

Pirates 10
Cardinals 9



